J-49uh fliE NE 300A

/=%

M EE NZ 300B

/=497

MElIE NE 300C

/=92 FflIE N300A
mEA  $=1/10

110 300 110

95

300

95

400

/=% FflIiE N300B
A 8=1/10

110 300 110

95

500

/=¥  F@liE N300C
ZHEM  S=1/10

110 300 110

o SEILAIL
] - | [ K /
5 /////// | RERE o  MEELSL
L A g ) | KRB |
‘50‘ 360 ‘50‘ 8 /////// _— S HEEILZIL
o S— : AHBE
W w Iw s 77777 e
| 50| 360 | 50
(10mdubt=Y) MO X (10mbdbt=Y) Mo o#H X (1o0mdqbt=Y)
% R % B = i = £ 7R 1% == AN E = b = % 7 O|R % B | = i3] =
e # [N-300A A |50 Bl # [N-3008 & |50 el # N-300C & |5.0
JgL—F oI E " 0 JgL—FrIE ® 0 JL—FUIE " 0
BEJLAIL 1 . 3 m3 10.072 BEILEI 1 . 3 m3 10.072 BELSIL 1 . 3 m3 |0.072
2 B B & |[RC-40 m® |0, 46 X B B & |RC-40 m3 0. 46 2 B B B |RC—40 m3 0. 46
iR B m3 iR B m? i il m?
1 R m?® 12 = m? 12 R m?
K o# L m 2 B o8 L m 2 K ¥ L m 2
B o+ o = m3 B o+ o = m3 B O+ o = m?3
J—HYo 2 Ffl;E N300A J—H o FAiE N300B J—H o  FAIE N300C
K A S=1/10 K A S=1/10 K A S=1/10
110 300 110 110 300 110 110 300 110
- - % - %
g* EELAIL
5 I { k J
< /////// _EERE o EELEL
— S— v ' ERRE —
\50\ 360 \50\ 8 /////// . g HEEILAIL
— S— : ERBE
50 350 50 s /////// EER
]50] 360 ]50\
# B % (10m®mbt=Y) ® OB % (1O0m®Ht=Y) M OB =X (1O0m¥pf=Y)
% R % B O |# = i3] E:3 £ 7o % B O | = i = % ooO|R % B | = i3] e
I # [N-300A A |50 e # [N-300B A |50 e # [N-300C A |5.0
JgL—Fvi5E r5'4 5.0 JgL—FrrE 754 5.0 JgL—F o E " 5.0
HELLI 1T 3 m3 [0.072 BELLIL 1 . 3 m3 ]0.072 BELAIL 1T 3 md |0.072
2= B R & [RC-40 m? 0. 46 X H B & |RC-40 m® 0. 46 X B B & [RC-40 m3 |0 46
i B m3 iR B m? i i m3
1 R m?® 12 R m?® 1= = m?
K # L m 2 K # L m 2 K # L m 2
B Ot m = m3 B ot o o= m3 B O+ o = m3
J—H o FAalFE N300A J—YH o FAliE N300B J—H o  FAIE N300C
HE oK 4 46 %5 F S=1/10 HE K 14 46 % F S=1/10 HE K 4 46 % F S=1/10
110 300 110 110 300 110 110 300 110
,9* =EEILEZIL
I I { K )
s /////// | RBEE of  BEELI
L KEC I [ HERE |
\50] 360 \50\ 8 /////// . — 2 /M
* S— ' EBBE
£l %0 El 5 /////// R
’50’ 360 ’50‘
# OB % (1O0m®upt=Y) ® B % (1O0m®bHt=Y) o R (1om®pf=Y)
% | % B4 | = ] = % 7R 1% B O | = b = % 7R i B | = ] =
e i# |N-300A A |5.0 el # [N-3008 A [5.0 e # N-300C & [5.0
JgL—FrvirE 54 0 JgL—F o E 754 0 JgL—F o0& b5 0
BEILAIL 1 . 3 m3 10.072 BMEILAIL 1 . 3 m3 10.072 BELAIL 1 . 3 m3 |0.072
2 B R & [RC-40 m3 0. 46 £ B B & |RC-40 m? 0. 46 X B B & |RC-40 m3 0. 46
i B m 3 iR Bl m?® i il m?
2 R m? 2 R m? 2 R m?
K # L m 2 K # L m 2 K # L m 2
B O+ o = m3 B o+ o = m3 B O+ oo = m3




